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QA1 In general, do you have a very positive, fairly positive, neutral, fairly negative or very negative image of the
European Parliament?
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*Evolution Apr. 2018 - Sept. 2018



QA2 Would you personally like to see the European Parliament play a more important or less important role?
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*Evolution Apr. 2018 - Sept. 2018



If a referendum was held tomorrow regarding (OUR COUNTRY)'s membership of the EU, how would you vote?
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QA3s If a referendum was held tomorrow regarding (OUR COUNTRY)'s membership of the EU, how would you vote?
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UK S= 35 53 12



QA4 From today's perspective, would you say the British people made the right choice in voting to leave the EU?
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QA5 Would you say that Brexit is a good or a bad thing for the European Union?
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QA6

In your opinion, when will the next European Parliament elections be held here in (OUR COUNTRY)?
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**|n September 2018, this question was not asked in the UK

Other/ Another date

A*

Don't know

EB90.1

S
IS

46

15
52
39
32
50
44
48
27
56
58
29
34
46
59
38
38
17
37
41
27
43
63
34
43
38
31
35

EB90.1

56
42
42
47
36
47
36
63
26
29
49
54
36
25
38
51
75
58
31
56
41
29
53
40
45
52
38

Total 'Correct answer'

A*

+9
+9

+4
+9
+4
+15
+7
+13
+4
+20

+12
+10
+15
+7
+2
+2
+4
+22
+7
+4
+9
+7
+5
+10
+10
+3
+14
+9

EB90.1

15

29

19
21
14

16
10
18
13
22
12
18
16
24
11

28
17
16

13
17
17
17
27

Total 'Incorrect answer'

A*



QA7 The next European Parliament elections will be held in May-June 2019. How interested or not are you in these
elections?
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*Evolution Apr. 2018 - Sept. 2018
**In September 2018, this question was not asked in the UK



QA8 The next European Parliament elections will be held in May 2019. How likely are you to vote in these elections?
Please use a scale from 1 to 10, where '1' means "not at all likely" and '10"' means "very likely".
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*Evolution Apr. 2018 - Sept. 2018
**|n September 2018, this question was not asked in the UK



QA8 The next European Parliament elections will be held in May 2019. How likely are you to vote in these elections?
Please use a scale from 1 to 10, where '1' means "not at all likely" and '10"' means "very likely".
(%)

> 2 =

- > % '§_ E

= ° F % B8 g2 5 3

= ) = o Q g g

= a) 5= g i =

= I = 9

2 ° =
S A S A 8 a8 S a8 A S a8 A

a 2 2 S & 2 2 2

ev7+ B 11 = 7 = 31 = 2 33 = 16 +1 18 = 31 =
EURO AREA M NA 7 NA 32 NA 2 33 NA 15 NA 18 NA 32 NA
BE BE o NA 7 NA 40 NA O 29 NA 15 NA 16 NA 40 NA
BG m 13 +2 7 +2 21 -8 7 35 +4 17 = 20 +4 21 -8
cz s 7 2 3 2 16 +3 2 58 +2 14 = 10 4 16 +3
DK = 6 -7 5 -2 65 +3 1 15 +7 8 = 11 -3 65 +3
DE B o ; 8 -7 48 +3 1 25 +1 9 -1 17 -2 48 43
EE == 10 2 5 -7 31 = 3 39 2 12 +1 15 41 31 =
IE Bl 4 = 9o 4 33 2 2 26 +4 16 +3 23 -4 33 -2
EL =17 +6 9 -1 19 -2 2 3 6 17 +2 26 +5 19 -2
ES == 12 +1 7 41 23 4 2 37 +1 19 +1 19 +2 23 -4
FR B 7 > 5 = 34 +4 1 41 2 12 +1 12 -2 34 +4
HR - 11 = 5 -2 15 -7 1 51 +7 17 -3 16 -2 15 -I
IT BR 7 2 8 +7 16 -3 3 371 = 25 +3 25 +3 16 -3
cY < 10 +6 4 +1 23 -10 1 49 +3 13 = 14 +7 23 -0
LV == 7 -1 5 -1 28 41 2 43 +1 15 = 12 -2 28 41
LT mm 0 = 7 = 33 4 1 39 +4 10 = 17 = 33 -4
LU 9 NA 6 NA 39 NA 3 34 NA 9 NA 15 NA 39 NA
HU — 16 +2 8 -1 28 = 1 32 = 15 = 24 4] 28 =
MT ‘M 15 6 9 +71 37 -9 1 25 +3 13 = 24 +7 37 -9
NL - 9 = 7 42 5 -2 1 18 = 10 -1 16 +2 55 -2
AT _— 14 +2 7 2 22 -3 1 37 43 19 41 21 = 22 -3
PL mm 14 +2 6 = 21 = 4 34 -5 21 +3 20 +2 21 =
PT E® o 3 6 -7 12 -2 2 53 +4 17 +1 16 -4 12 -2
RO B v +7 7 = 25 -10 2 32 +4 23 +5 18 +1 25 -I0
S| Bm 8 +7 4 -7 28 -3 2 46 -1 12 43 12 = 28 -3
SK 9 2 7 -1 14 = 5 5 = 15 = 16 +1 14 =
FI d= 14 2 10 +7 32 -3 1 32 +2 11 -2 24 +3 32 -3
SE 2= 10 -2 6 -1 59 411 0 14 -8 11 = 16 -3 59 +]1

*Evolution Apr. 2018 - Sept. 2018
**In September 2018, this question was not asked in the UK



QA10a Which of the following themes should be discussed as a matter of priority during the electoral campaign for
the next European Parliament elections? Firstly?
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*Evolution Apr. 2018 - Sept. 2018
**In September 2018, this question was not asked in the UK



Which of the following themes should be discussed as a matter of priority during the electoral campaign for

the next European Parliament elections? Firstly?
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*Evolution Apr. 2018 - Sept. 2018
**In September 2018, this question was not asked in the UK



QA10T  Which of the following themes should be discussed as a matter of priority during the electoral campaign for
the next European Parliament elections? Firstly? And then? (MAX. 6 ANSWERS)
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*Evolution Apr. 2018 - Sept. 2018
**In September 2018, this question was not asked in the UK



QA10T  Which of the following themes should be discussed as a matter of priority during the electoral campaign for

the next European Parliament elections? Firstly? And then? (MAX. 6 ANSWERS)
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*Evolution Apr. 2018 - Sept. 2018
**In September 2018, this question was not asked in the UK



QA11a Please tell me how important or not it is for you personally to vote IN THE EUROPEAN ELECTIONS? Please use
a scale from 1 to 10, when 1 means that voting is something that has no importance at all for you, and 10
means that voting is something you consider essential or that is a key duty for you as a citizen. The remaining
numbers indicate something in between these two positions.
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*Evolution Apr. 2018 - Sept. 2018
**In September 2018, this question was not asked in the UK



QA11a Please tell me how important or not it is for you personally to vote IN THE EUROPEAN ELECTIONS? Please use
a scale from 1 to 10, when 1 means that voting is something that has no importance at all for you, and 10
means that voting is something you consider essential or that is a key duty for you as a citizen. The remaining
numbers indicate something in between these two positions.
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DE m -7 10 -3 7 -2 46 45 1
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*Evolution Apr. 2018 - Sept. 2018
**In September 2018, this question was not asked in the UK



QA11aT  Please tell me how important or not it is for you personally to vote IN THE EUROPEAN ELECTIONS? Please
use a scale from 1 to 10, when 1 means that voting is something that has no importance at all for you, and
10 means that voting is something you consider essential or that is a key duty for you as a citizen. The
remaining numbers indicate something in between these two positions.
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*Evolution Apr. 2018 - Sept. 2018
**In September 2018, this question was not asked in the UK



QA11b And how important or not is it for you to vote in THE NATIONAL ELECTIONS IN (OUR COUNTRY)?
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QA11b And how important or not is it for you to vote in THE NATIONAL ELECTIONS IN (OUR COUNTRY)?
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*Evolution Apr. 2018 - Sept. 2018
**In September 2018, this question was not asked in the UK



QA11bT  And how important or not is it for you to vote in THE NATIONAL ELECTIONS IN (OUR COUNTRY)?
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*Evolution Apr. 2018 - Sept. 2018
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QA12 What is your opinion on the following statement? Please tell me whether you are for it or against it: A European
economic and monetary union with one single currency, the euro.
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QA13a The EP makes decisions on European legislation which directly impacts every citizen's life. In your opinion

which of the following should be given priority by the European Parliament? Firstly?
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QA13a The EP makes decisions on European legislation which directly impacts every citizen's life. In your opinion

which of the following should be given priority by the European Parliament? Firstly?
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QA13a The EP makes decisions on European legislation which directly impacts every citizen's life. In your opinion

which of the following should be given priority by the European Parliament? Firstly?
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QA13T The EP makes decisions on European legislation which directly impacts every citizen’s life. In your opinion
which of the following should be given priority by the European Parliament? Firstly? And then?
(MAX. 3 ANSWERS)
(%)
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iT L S c IS g. a
[ e =
S A S A+ S A 8 A S A g
[aa] [aa] [aa] [aa] [aa] [aa]
[N [N [N [N [N [N
EU28 B 27 5 24 +3 41 = 12 +2 19 +2 18  +1
EURO AREA 29 +7 24 +3 43 +7 14 +3 18 +7 18 +7
NON-EURO AREA 24 +3 25  +3 37 = 7 = 20 +3 18 =
BE Bl 26 +5 19 2 49 +5 10 +7 20 +4 1 -4
BG Bm 18 -7 33 410 53 +9 8 +2 36 +15 8 -7
cz B 41 +9 22 +2 30 = 5 +7 18 -2 16 -5
DK aEm 35  +5 18  +3 31  +7 5 = 13 -7 21 -8
DE B 37 45 16 +2 42  +4 18 +4 12 = 25 -2
EE = )5 4 28 47 42 +6 14 +6 14 = 12 42
IE [ | 19 +4 31 45 40 -9 15 +5 23  +3 16 =
EL = )5 48 49 473 54 -3 10 +2 22 -2 N =
ES == 20 +77 36 +2 48 -2 9 +3 14 -3 21 45
FR Bl 21 + 19 +4 45 2 13 #7123  +4 12 +1
HR =12  +2 37 +6 53 +6 6 2 24 +5 17 +1
IT Bl 32 + 30 +7 34 +3 12 +3 20 = 13 +3
cY © 16 +4 42 +14 44 -7 4 43 25 45 19 -2
LV == 20 +5 36 +9 56 +1 11 +3 23 = 10 =
LT Bl 6 +7 51 +5 66 +8 7 +2 21 +7 14 -7
LU _—2 49 12 = M -3 17 = 16 = 14 -7
HU 31 +5 27 -1 33 -6 13  +1 21  +5 19 +4
MT ‘WM 42 +7 12 +1 30 -5 8 +1 21 42 26  +14
NL - A #5115 -7 39  +2 18 +3 18 +2 21 +1
AT — 3 42 20 -2 39 +5 20 +5 23  +7 19 -3
PL mm 25 +7 25 +2 37 -2 8 +7 23 +4 18 +4
PT Bl 1 +5 27 +4 64 -3 13 +4 23  +5 12 =
RO Il 2 = 21 = 39 6 18 +4 26 +2 18 =
Sl EBm 19 +7 30 +5 46 -5 14 +4 25 +8 16 -7
SK 25 +4 24 +6 37 -7 13 +17 19 +4 18 +17
FI = 17 43 20 -7 44 = 12 +2 16 41 26 -3
SE mmm 47 +3 18  +5 39 -5 4 = 10 = 37 -3
UK == 18 +2 26 +5 36 +4 4 -7 17  +3 16 =2
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QA13T The EP makes decisions on European legislation which directly impacts every citizen’s life. In your opinion
which of the following should be given priority by the European Parliament? Firstly? And then?
(MAX. 3 ANSWERS)
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[aa] [aa] [aa] [aa] [aa] [aa]
[N [N [N [N [N [N
EU28 B\ 3 +~# 11+ 30 -17 13 -1 33 +2 8 +2
EURO AREA 25  +4 11 +3 28 -13 13 = 36 = 7 42
NON-EURO AREA 19 +3 10 +2 33 -6 15 +1 26 +4 9  +7]
BE Bl 32 + 15 +4 34 -717 10 +7 33 = 6 -
BG = 8 47 9 = 26  -13 11 2 30  +7 8 =
cz B 17 +6 10 +2 44  -77 21 +2 19 +2 8 2
DK amm 47 +6 17  +6 33 -5 13 +7 14 +5 10  +7
DE B 33 w5 12 +5 26 -11 14 -1 25 +4 7 +7
EE == 0 47 12 +4 27 -17 22  +2 23 41 7 +3
IE [ | 21 +6 15 +6 26 -14 9 = 29 -2 13 +5
EL = 9 2 6 = 15 6 15 +6 59 -8 6 +7
ES == 17 +3 11 +3 25 -18 8 +1 46 = 6 +2
FR Bl 35 +0 11 +2 39 -6 13 -3 34 -0 3 +7
HR _—12 42 9 +1 24 -9 7 -1 57  +6 7 =
IT il 2 -2 8 = 29 -79 12 -2 52 49 10 42
cY © 15 +4 6 +3 25 -12 20 +10 54 -7 3 -7
LV — +7 7 +7 18 -0 18 +2 33 -5 8 +3
LT mm 7 A 6 = 16 -9 9 BN Y 9 42
LU —35 47 11 +2 24 -13 14 -1 35 -] 4 2
HU —17  +4 13 #2027  -10 21 +1 30 -2 12 46
MT ‘B 19 2 8 -1 34 14 9 +3 22 41 5 +2
NL -_— 42 = 19 +5 24  -14 18 -2 9 +1 10  +4
AT — 27 #7113 +2 20 -72 18 +3 28 4 9 =
PL mm 11 +2 12 +3 37 -7 19 +7 28 +2 8 +7
PT B o +2 8 +2 28 -18 10 +2 52 -3 6 +4
RO i1l 3 = 13 +2 17 -12 17 41 35 -1 13 42
Sl Em 18 +4 6 = 19 -9 9 = 43 -8 6 =
SK 15 +6 9 +2 26 -13 17 +17 34 +5 9 +17
FI o= 33 43 15 +4 34 -77 17  +5 23 +4 4 -7
SE mm 57 +7 11 #7119 -12 16 +3 5 2 6 +2
UK == 21 +6 8 +2 38 #7111 #7124  +8 10  +7
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QA13T The EP makes decisions on European legislation which directly impacts every citizen’s life. In your opinion
which of the following should be given priority by the European Parliament? Firstly? And then?
(MAX. 3 ANSWERS)
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o o o o o
Ll Ll Ll Ll (NN}
EU28 BE +2 2 +1 1 2 0 N.A 2
EURO AREA 10 +2 1 = 1 -7 0 N.A 1
NON-EURO AREA 14 +17 2 +17 2 -3 0 N.A 4
BE Il o +4 1 = 0 = 0 N.A 0
BG == 19 -8 0 -7 0 -7 0 N.A 3
cz e 13 +3 2 +17 1 -7 0 N.A 2
DK -V = 3 = 0 2 1 N.A 1
DE ) +17 2 +17 1 2 0 N.A 1
EE = +5 2 -7 1 -3 0 N.A 4
IE [ | 16 +5 0 2 1 -7 0 N.A 2
EL = |0 2 0 2 1 = 0 N.A 1
ES = 8 +2 2 = 1 -7 0 N.A 1
FR Il s +3 1 = 1 -7 0 N.A 1
HR 15 +4 0 = 1 = 0 N.A 1
IT Il = = 0 -7 1 = 0 N.A 2
cY = 9 -7 1 = 1 -7 0 N.A 1
LV - 9 +17 1 -7 2 -3 0 N.A 2
LT mm 4 +3 1 = 0 -7 0 N.A 1
[
LU —_—10 = 2 = 3 +17 0 N.A 3
HU — 20 +5 1 +17 0 -7 0 N.A 0
MT ‘B o +17 2 = 1 2 0 N.A 3
[
NL -_— 12 +2 1 = 1 = 0 N.A 0
AT —_— 17 +2 2 +17 0 = 0 N.A 1
PL - 14 +4 1 -7 0 2 0 N.A 3
PT Bl 4 +6 9 +3 0 -7 0 N.A 2
RO Bl +8 2 = 2 -7 0 N.A 3
S| Em 13 +4 2 = 2 = 1 N.A 1
SK 17 +3 2 -3 1 = 0 N.A 2
FI = 14 +2 1 = 1 -7 0 N.A 1
SE am 11 +2 1 = 2 = 0 N.A 1
UK == 12 2 2 +17 5 -6 1 N.A 6

*Evolution Sept./Oct. 2017 - Sept. 2018



QA14 In your opinion, which of the following values should the European Parliament defend as a matter of priority?
(MAX. 3 ANSWERS)
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S A S A+ S Ar 8 A S A g
[a] [a] [a] [a] [a] [a]
(NN} (NN} (NN} (NN} (NN} (NN}
EU28 B 20 +8 20 +7 23 +3 30 +2 22 +2 46 -I0
EURO AREA 43 #7022 +2 23 42 32 42 23 42 45  -I]
NON-EURO AREA 34 +6 17 +1 22  +4 26  +2 20 +2 47  -10
BE Bl 51 + 24 +3 22 +1 26 +2 18 +1 37 -9
BG BE 25 8 9 #1027 +7 46 = 22  +1 34 -2
cz B 37 +9 7 +1 13 #7131 43 14  +1 40 -14
DK Emm 38 477 10 -4 34  +4 26 +1 21 2 47 -I0
DE B 35 4w 260 +7 28 +5 37 +1 25 = 49 -3
EE == 3 +/0 18 +4 24 +3 33 +6 10 = 43 -I5
IE [ | 44  +6 24 +2 21 +3 28 46 22 +5 48  -12
EL = 21 44 24 #7121 = 56 +4 35 +5 50 -74
ES Z= 53 418 18 -4 17  +3 22 = 24 +3 45  -]2
FR Bl 58 +2 13 4 26 +3 25 = 23 = 44 -8
HR =30 49 13 #7126 +7 42  +10 29 +10 45 -8
IT Bl 38 + 27 +2 19 2 32 +1 18 +1 42 -6
cY © 28 +5 18  +4 12 = 39 42 32  +5 67 -11
LV - 17 +#3 11 +3 17 +2 35 +#7 19 +3 52  -]0
LT mm 20 +6 6 = 22 +5 38 +4 18 +3 50 -77
LU —_—39 -7 21 +2 24 +4 29 = 27  +6 39 -8
HU —2 +6 18 -2 22  +4 36 +9 20 +2 50 -8
MT ‘M 26 -3 32 +4 17 -2 20 41 23 -2 39 -14
NL - 47 +8 23  +3 31 +3 32  +1 18 = 47 -I6
AT — 46 49 22 = 20 +3 39 45 24  +5 43 -9
PL mm 28 = 17  +5 20 +3 32 43 17 +1 44  -12
PT Bl 42 +13 23 +3 16 +1 40 +5 27 +6 A1 -4
RO Bl 22 +7 14 4 19 +4 30 -2 24 +3 46 -9
Sl Em 30 +6 8 = 19 +4 40 +3 21 +2 47 -13
SK 31 +8 13 +3 18 +7 33  +3 13 -1 44  -I3
FI o= 45 477 19 +3 25 +3 27 +4 18 +2 55 -]2
SE mmm 52 +3 14 -1 20 +4 30 410 25 = 57  -14
UK == 41 +70 21 #7123 +3 14 +7 18 +2 51 -5
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QA14 In your opinion, which of the following values should the European Parliament defend as a matter of priority?
(MAX. 3 ANSWERS)
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(NN} (NN} (NN} (NN} (NN} (NN}
EU28 B 33 +~ 12 +2 1 = 1 -7 0 N.A 2
EURO AREA 35 +3 12 +7 1 -7 1 -7 0 NA 2
NON-EURO AREA 42 +3 10 42 1 = 1 -7 0 NA 3
BE Bl 46 2 11 +2 1 = 0 = 0 NA 1
BG B 23 4 6 -7 2 +7 2 +7 0 NA 5
cz e 39 +4 7 = 3 +7 3 = 0 NA 4
DK amm 49 48 13 42 2 +7 1 = 0 NA 2
DE = 9 7 13 = 1 = 1 -7 0 NA 1
EE = 4 s 4 = 1 -7 1 -7 0 NA 4
IE [ | 38 +4 10 -7 0 -7 1 = 0 NA 2
EL = 38 47 13 = 3 -7 1 = 0 NA 1
ES = 36 +8 7 = 1 2 1 -7 0 NA 3
FR Il s -3 13 +3 0 -7 1 = 0 NA 1
HR =30 46 15 +7 1 = 1 = 0 NA 2
IT Bl 28 +2 15  +5 1 = 2 = 0 NA 3
cY © 40 470 9 -7 1 = 0 -7 0 NA 1
LV - 44 47 4 = 2 +7 2 = 0 NA 3
LT mm 40 +7 4 = 3 +7 2 = 0 NA 3
LU — A +2 N +3 3 = 1 = 0 NA 3
HU —29 44 7 +2 2 +2 1 -7 0 NA 1
MT ‘B 42 #7710 +3 2 +7 1 -7 0 NA 4
NL - 58 +4 10 2 2 +7 0 = 0 NA 0
AT — 28 +7 19 = 7 +2 1 = 1 N.A 1
PL mm 38 45 11 +4 1 = 1 = 0 NA 4
PT Bl 22 + 15 46 6 +2 0 = 0 NA 3
RO Bl 38 -3 15 = 1 = 0 = 0 NA 3
Sl Em 38 +9 8 +3 3 +7 2 -7 0 NA 1
SK 36 49 10 +3 4 = 0 -7 0 NA 3
FI = 54 -7 13 42 1 = 0 -7 0 NA 2
SE mm 55 43 14 +3 1 = 0 -7 0 NA 1
UK =k 49 +3 8 +2 1 = 2 2 0 NA 4
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QA15 Generally speaking, do you think that (OUR COUNTRY)'s membership of the EU is...?
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QA16 Taking everything into account, would you say that (OUR COUNTRY) has on balance benefited or not from
being a member of the EU?
(%)
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[aa) 5 8 a
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S A* S A* S A* S
[aa] o [aa] o
[N Ll [N (NN}
EU28 B s +1 24 +1 0 NA 8
EURO AREA 67 +17 25 +7 0 NA 8
NON-EURO AREA 70 +3 22 +7 0 NA 8
BE Il 2 21 = 0 NA 4
BG Em 60 +3 24 +7 1 NA 15
cz e 64 +2 28 2 1 NA 7
DK H— Y = 9 +17 1 NA 6
DE 6 +1 16 -3 1 NA 7
EE == g3 +2 7 +17 0 NA 5
IE [ | 92 +1 4 2 0 NA 4
EL = 54 -3 40 +3 0 NA 6
ES = 75 = 19 +2 0 NA 6
FR Il & +3 25 +17 0 NA 11
HR 66 +3 28 2 0 NA 6
IT Il 4 -7 45 +4 0 NA 12
cY = 61 +5 37 -3 0 NA 2
LV - 73 +3 20 -3 0 NA 7
LT mm S8 2 8 +7 0 NA 4
|
LU —_— 85 -3 7 = 0 NA 8
I
HU —_—79 +1 14 -7 0 NA 7
MT ‘B o 2 5 +17 0 NA 4
NL - 78 = 16 = 0 NA 6
AT — 60 +6 31 -7 3 NA 6
PL mm 87 -7 7 +7 0 NA 6
PT Bl s = 13 +17 0 NA 9
RO Bl & -7 30 +7 0 NA 6
Sl Em 69 -4 25 +5 0 NA 6
SK 77 = 17 +7 0 NA 6
FI 4= 66 4 24 +3 0 NA 10
SE am 73 +7 17 -8 0 NA 10
UK == 60 +7 30 +2 0 NA 10
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QA17 Which of the following are the main reasons for thinking that (OUR COUNTRY) has benefited from being a
member of the EU? (MAX. 3 ANSWERS)
(%)
(IF ' COUNTRY HAS BENEFITED FROM BEING A MEMBER OF THE EU, CODE 1IN QAT16)
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[NN] [N [NN] Ll (NN} Ll [NN] [N
EU28 B 13 47 30 = 38 +2 31 +1 19 +2 12 41 22 +2 22 +3
EURO AREA 13 +2 33 = 37 +1 35 +2 20 +2 12 +1 23 +1 19 +2
NON-EURO AREA 13 -7 24 +7 40 +4 25 = 16 +1 11 = 19 +2 28 +4
BE Bl 15 +7 24 -4 32 471 27 +1 23 410 10 +2 28 +1 18 +1
BG Em 13 4 18 -5 31 45 32 -3 18 = 7 = 21 42 22 46
cz Bm 10 3 20 -8 40 +6 25 = 8 -3 5 = 18 +3 34 42
DK BER 4 = 35 = 36 +3 47 = 20 +5 14 +#1 31 +3 10 +1
DE B 5 44 45 42 47 42 35 42 21 +3 12 -1 20 +6 18 +1
EE B 6 47 31 2 51 +2 26 +2 16 +1 2 -1 11 -3 35 +3
IE Bl 13 = 13 = 49 = 20 +7 15 +7 12 1 22 -2 42 +7]
EL 2= 19 44 51 42 25 42 32 +1 25 -1 12 -1 30 -12 18 +3
ES =16 44 21 = 37 -2 24 +2 15 +1 7 = 19 42 24 42
FR Bl 8 -7 32 -4 25 +3 39 +5 20 +4 20 +4 34 = 10 -2
HR w22 43 25 41 37 49 24 +5 13 +2 10 +2 22 +4 22 -2
IT BN 17 +8 28 +7 22 +3 33 4 21 -1 14 = 27 -1 17 +5
[a% © 19 -3 44 +6 30 -6 25 +5 17 -2 8 +2 27 -3 22 +5
LV == 7 -1 34 +3 44 +6 34 +6 18 = 2 -2 9 -3 30 +3
LT Bm 12 3 24 4 51 49 25 +7 10 -1 4 -1 15 = 37 +7
LU —10 = 24 +1 45 +8 31 +4 19 +7 12 -5 32 +3 23 +3
HU 17 43 16 = 43 -2 20 +1 15 +6 10 = 13 = 33 +3
MT ‘W10 -3 13 #2 39 +2 17 -6 12 -2 12 +5 30 -1 32 -2
NL = 3 = 37 = 57 41 61 -1 34 +4 5 42 10 +3 13 +1
AT 15 47 29 -9 36 -1 40 +7 23 +1 14 42 27 +2 19 -5
PL mm 16 = 19 = 46 +9 17 -1 16 +3 8 -2 15 -1 36 +5
PT EM 9 8 15 -4 38 +70 33 +5 12 = 9 = 32 +2 34 49
RO Bl 22 3 22 2 30 +7 16 -2 13 -1 10 +3 18 +5 28 +2
S| Bmm 12 -3 29 = 46 +6 30 +4 17 +2 4 = 13 = 24 46
SK 15 -7 19 -7 32 +4 22 -2 13 = 8 41 21 -1 29 +7
FI o= 7 47 32 -7 34 -5 54 +6 32 +6 10 +2 15 -1 15 =
SE mmm 3 -7 44 +4 37 +9 58 -4 18 = 15 -6 16 = 5 4]
UK == 10 = 27 +5 40 -2 25 -7 16 -3 14 = 23 45 27 +7
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member of the EU? (MAX. 3 ANSWERS)
(IF COUNTRY HAS BENEFITED FROM BEING A MEMBER OF THE EU, CODE T IN QAT16)

QA17 Which of the following are the main reasons for thinking that (OUR COUNTRY) has benefited from being a
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QA18a The EU and its citizens are facing a number of threats. From which of the following should the EU protect its
citizens? Firstly?
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[ © = v = 2 © c
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= o)) © S= k=2 x =
U L w2 T S O
S A S ar 8 A+ S Ar 8 A S A 8 A
o o o o o o o
(NN} (NN} (NN} (NN} (NN} (NN} (NN}
EU28 B 9 9 7 +2 15 +4 3 NA 6 = 7 +2 6 +2
EURO AREA 17 -10 7 +2 15 +4 2 NA 7 +1 7 +2 6 +2
NON-EURO AREA 2 -8 7 +2 14 +3 4 NA 6 = 6 +1 6 +1
BE Bl 8 - 11 2 11 +2 2 NA 11 +1 9 +4 5 42
BG B 20 72 1 = 14 +1 2 NA 5 -2 3 = 8 +3
cz Bm 18 75 3  #7 33 +9 2 NA 10 +4 4 +1 4 -]
DK amm 21 -7 20 +6 12 +2 3 NA 7 = 7 +#1 8 +1
DE B 4 74 8 +3 18 +5 2 NA 9 +2 11 +2 9 42
EE == 9 -0 2 = 21 2 5 NA 8 +3 7 +3 5 +1
IE Bl 19 72 9 +2 13 +6 4 NA 8 +2 5 -1 9 +4
EL = 5 4 1 = 16 +6 2 NA 1 -1 2 = 4 42
ES - 18 5 6 +2 10 +6 2 NA 4 = 7 43 2  +1
FR Bl 28 5 10 + 8 -1 3 NA 10 +2 6 +1 2 =
HR =13 4 4 #1 7 +2 2 NA 2 2 4 -1 7 +1
IT Bl 2 79 3 = 27 48 1 NA 3 = 4 = 6 =
cY < M -177 3 -1 10 = 4 NA 2 -1 3 +1 4 =
LV - 16 -7 2 +#1 12 +1 7 NA 3 = 4 43 5 42
LT mm 11 -7 1 -7 9 = 3 NA 3 +1 3 42 5 42
LU —_—16 5 12 +5 11 +1 2 NA 6 -2 11 +2 2 -3
HU —12 -8 7 +2 29 +6 3 NA 5 +2 8 +4 7 42
MT ‘W 12 -16 5 -7 52 424 2 NA 6 +2 4 -1 4 -]
NL - 24 4 14 +2 8 +1 3 NA 13 +7 10 +3 6 +3
AT _— 8 5 8 42 20 +2 3 NA 9 -1 7 42 8 42
PL mm 19 -8 3 +1 17 +1 2 NA 7 +2 5 +17 5 +17
PT Bl 7 9 2 +1 6 +2 1 NA 3 +1 5 +3 4 42
RO Bl 2 5 6 +1 7 -3 9 NA 3 = 6 +1 6 =
Sl Bm 12 6 4 = 22 +11 3 NA 6 +1 6 +2 8 42
SK 12 -8 4 +2 22  +5 3 NA 5 +2 5 +7 7 +7
FI = 18 5 14 4+ 12 +7 1 NA 4 = 6 -1 8 +1
SE mm 16 -7 21 +5 4 -3 5 NA 9 +4 9 -1 9 47
UK == 31 6 7 +1 11 +5 3 NA 5 -3 6 = 5 +]

*Evolution Sept./Oct. 2017 - Sept. 2018



QA18a The EU and its citizens are facing a number of threats. From which of the following should the EU protect its

citizens? Firstly?
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QA18T The EU and its citizens are facing a number of threats. From which of the following should the EU protect its
citizens? Firstly? And then? (MAX. 4 ANSWERS)
(%)

c 8 e
v 2 ° 2 g )
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5 o € 23 © % 2
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(] < L % < E ©]
S A S ar 8 A+ S Ar 8 A S A 8 A
o o o o o o o
(NN} (NN} (NN} (NN} (NN} (NN} (NN}
EU28 B 47 -77 29 +6 42 +7 12 NA 27 +4 25 +5 29 47
EURO AREA 45 -74 31 +6 44 +8 11 NA 28 +5 26 +6 29 +8
NON-EURO AREA 51 -7 26 +6 39 +6 15 NA 25 +2 24 +4 29 46
BE BE 46 -9 37 +5 34 +4 11 NA 34 +3 31 +15 25 +70
BG EE 49 72 12 +1 44 +6 12 NA 19 -7 14 +3 36 +12
cz Bm 54 -75 17 +5 69 +714 16 NA 35 +8 21 +5 33 +4
DK amm 50 -7 55 49 37 +8 21 NA 31 +6 25 +1 36 +3
DE B 40 76 33 +5 44 +7 9 NA 34 +6 36 +10 40 +10
EE = 43 73 14 +4 50 4 21 NA 23 +4 20 +6 23 +9
IE BP 45 -75 32 +77 36 +7 18 NA 29 +5 23 = 31 +7
EL =36 -7 24 +6 65 +15 14 NA 14 = 13 +4 25 +8
ES T 46 -16 27 +4 34 +9 10 NA 26 +9 25 +6 15 +7
FR Bl 50 <4 39 +14 30 = 11 NA 36 +7 22 +5 13 +2
HR =40 4 16 +2 29 +5 15 NA 17 +3 25 +6 40 +74
IT Bl 45 20 21 +3 66 +15 9 NA 16 +1 18 +2 36 +7
cY o 46 -74 25 +3 39 -3 16 NA 9 = 12 +6 26 +3
LV == 38 -8 8 = 40 +6 25 NA 12 -2 12 +4 27 +7
LT mm 30 -77 13 +71 37 +4 16 NA 11 +3 12 +3 29 +6
LU —39 -9 35 470 34 +3 12 NA 29 = 27 -3 21 +2
HU — 40 -74 28 +6 58 +7 13 NA 23 +8 30 +10 36 +9
MT ‘W 48 -15 24 6 76 +20 18 NA 15 = 17 +1 35 +14
NL == 50 -6 51 +6 30 -1 14 NA 44 +6 32 +6 31 +10
AT — 26 -7 36 +5 50 +6 18 NA 38 +4 28 +5 36 +9
PL mm 50 4 20 +8 47 +8 10 NA 24 +6 20 +6 26 +7
PT Bl 47 -73 19 +9 26 +4 5 NA 13 +1 19 +6 35 +74
RO Bl 36 5 25 +3 28 -5 24 NA 14 -2 20 +2 23 -3
Sl Bmm 33 -70 20 = 49 +717 15 NA 21 +6 24 +7 26 +3
SK 36 -72 17 +4 56 +17 15 NA 21 +4 23 +5 31 +7
FI o= 47 6 44 +73 37 +6 10 NA 23 4 27 +1 37 +6
SE mmm 42 72 62 410 19 -7 24 NA 32 +8 34 +4 44 +]
UK =k 60 -5 25 +4 33 +9 13 NA 26 -2 26 = 26 +6

*Evolution Sept./Oct. 2017 - Sept. 2018



QA18T The EU and its citizens are facing a number of threats. From which of the following should the EU protect its
citizens? Firstly? And then? (MAX. 4 ANSWERS)
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é A* é A* é A* é A* é A* é A* é
o o o o o o [aa]
(NN} (NN} (NN} (NN} (NN} (NN} [NN]
EU28 B 4 +71 46 +4 23 +2 13 NA 1 = 0 NA 1
EURO AREA 48 = 48 +4 21 +2 12 NA 1 = 0 NA 1
NON-EURO AREA 35 +3 42 45 27  +1 15 NA 1 = 0 NA 2
BE Bl 20 = 48 +7 21 +5 13 NA 1 = 0 NA 0
BG B 45 +£72 59 +719 19 4 16 NA 1 41 0 NA 2
cz Bm 27 2 27 +2 37 +2 14 NA 1 41 0 NA 0
DK amm 21 +3 31 +2 16 = 26 NA 1 11 NA 0
DE B 9 - 41 +4 28 +6 13 NA 1 = 0 NA 1
EE B= 33 - 39 4+ 29 +7 19 NA 2 = 0 NA 2
IE B 43 -7 40 +7 17 +3 23 NA 0 -1 0 NA 1
EL == g3 = 81 +6 12 -1 8 NA 0 -2 0 NA 1
ES - 62 -8 5 = 17 2 6 NA 2 = 0 NA 1
FR Bl 48 -3 48 = 19 +2 12 NA 0 -1 0 NA 1
HR =69 417 63 +9 33 +7 12 NA 0 = 0 NA 1
IT Bl 69 +72 40 +9 15 = 11 NA 1 = 0 NA 1
cY 73 = 61 43 22 49 11 NA 1 = 0 NA 1
LV = 49 -3 44 -3 38 +5 21 NA 1 71 NA 1
LT mm 8 +6 71 +7 38 +3 16 NA 1 = 0 NA 1
LU —43 44 47 +5 21 +2 10 NA 3 = 1 NA 4
HU —37 -1 47 +7 18 = 13 NA 0 = 0 NA 0
MT ‘W18 3 32 4 6 -4 13 NA 2 = 0 NA 2
NL - 19 +7 46 +6 27 = 23 NA 1 = 0 NA 0
AT — 50 +4 48 +9 19 -3 22 NA 2 42 0 NA 0
PL mm 34 -2 38 +7 38 +3 11 NA 1 -1 0 NA 2
PT Bl 2 +7 74 +3 19 +1 8 NA 9 +4 0 NA 1
RO Bl &1 +7 48 = 25 -5 18 NA 4 +4 0 NA 4
S| Bm 50 -7 53 +7 12 = 13 NA 3 +7 1 NA 1
SK 4 +8 39 = 28 -1 13 NA 2 -2 0 NA 2
FI = 32 45 53 46 28 -2 18 NA 1 +1 0 NA 1
SE mam 16 = 43 -7 30 = 10 NA 1 = 0 NA 2
UK =k 35 46 40 +6 21 +2 17 NA 1 = 1 NA 3

*Evolution Sept./Oct. 2017 - Sept. 2018



D71.1  When you get together with friends or relatives, would you say you discuss frequently, occasionally or never
about...?
National political matters (%)

- 2
N = o) 2
= e - = I S
o S x Z 5
w e} 8 A

%)
S a8 A 8 a8 a8
i 2 2 2 2
EU28 B s 7 53 = 29 +7 0 NA 0
EURO AREA 19 -7 54  +7 27 = 0 NA 0
NON-EURO AREA 15 -7 52 -] 32 2 0 NA 1
BE BR o0 -7 53 -2 37 +3 0 NA 0
BG = RE -3 62 = 21 #2 0 NA 2
cz s 14 -7 61 = 24 = 0 NA 1
DK aEm 28  +4 51 -3 21 -7 0 NA 0
DE Y = 63 = 13 = 0 NA 0
EE = 3 -3 61 +1 25 42 0 NA 1
IE [ | 14 -4 50 -3 35 +7 0 NA 1
EL = 33 -3 54 +2 13 +1 0 NA 0
ES == 16 +1 48 +3 36 -4 0 NA 0
FR Bl w4 -7 44 2 42 43 0 NA 0
HR —_— 14 -5 54 7 32 412 0 NA 0
T IR 2 -7 50 = 29 47 0 NA 1
cY < 17 -5 49 = 33 +4 0 NA 1
LV == 13 -2 56  +2 31 +1 0 NA 0
LT mm 12 2 6l = 26 +1 1 NA 0
LU — 19 = 48  +1 32 -2 0 NA 1
HU _— 11 -4 66 -7 23 +6 0 NA 0
MT ‘M 10 -7 48  -12 42 +19 0 NA 0
NL — 32 5 50 42 18  +3 0 NA 0
AT —_— 24 -7 66  +1 9 -7 1 NA 0
PL - 12 = 57 4 29  +3 0 NA 2
PT Bl o -7 50 34 +4 0 NA 0
RO iR - 2 52 -4 38 +3 2 NA 1
S| Em 10 -2 6l = 29 2 0 NA 0
SK 12 = 60 -5 27  +4 1 NA 0
FI g= 10 -7 61 +6 29 42 0 NA 0
SE =m 35 = 55 +7 10 -7 0 NA 0
UK Sk 15 2 44 = 41 +2 0 NA 0

*Evolution Apr. 2018 - Sept. 2018



D71.2 When you get together with friends or relatives, would you say you discuss frequently, occasionally or never
about...?
European political matters (%)

- 2
N = o) 2
= e - = I S
o S x Z 5
w e} 8 A

%)
§ A* é A* é A* é A* é
i 2 2 2 2
EU28 B o0 - 49 = 40  +7 0 NA 1
EURO AREA 10 -7 50 +7 39 -1 0 NA 1
NON-EURO AREA 1M #7146 -5 41 +3 1 NA 1
BE g - +1 42 -5 51 +4 0 NA 0
BG == s -7 58 = 31 = 0 NA 3
cz b= 6 = 53 -3 39 47 1 NA 1
DK im 16 +2 53 -6 31 +4 0 NA 0
DE = 6 = 63 = 21 = 0 NA 0
EE = 7 -4 55 -2 37 +6 0 NA 1
IE [ | 10 -3 42 5 46 47 1 NA 1
EL = 7 5 60 +5 23 = 0 NA 0
ES = 7 -2 40 41 52 = 0 NA 1
FR IR > -7 35 = 60  +1 0 NA 0
HR _— 9 -7 46 -9 45 410 0 NA 0
T IR s -2 51 +5 40 -3 0 NA 1
cY | 9 -7 47 #1 43  +5 0 NA 1
LV == 6 -3 49 -3 45 47 0 NA 0
LT mm 0 -7 58 = 31 = 1 NA 0
LU 13 5 50 42 36 @ +2 0 NA 1
HU — 8 2 62 -4 30 +7 0 NA 0
MT ‘B 4 -4 43 -9 53 +13 0 NA 0
NL - 15 -2 51 = 34 42 0 NA 0
AT _— 17 = 64 +2 18 -2 1 NA 0
PL mm 9 -7 49 -7 39 46 1 NA 2
PT El s -2 40 -5 55 47 0 NA 0
RO BE s -2 40 -6 48  +3 4  NA 2
S| Em 7 2 57 +2 36 41 0 NA 0
SK 7 = 60 -2 32 +] 1 NA 0
FI d= 6 -3 52 -4 41 +7 0 NA 1
SE mm 14 +2 59 = 27 -7 0 NA 0
UK Sk 14 +2 40 2 46 = 0 NA 0

*Evolution Apr. 2018 - Sept. 2018



D71.3 When you get together with friends or relatives, would you say you discuss frequently, occasionally or never
about...?
Local political matters (%)

X 3
2 = . e 3
g - =5 8
o} Q a

%)
S a8 A 8 a8 a8
a 2 2 3 2
EU28 B 7 = 52 = 31 ] 0 NA 0
EURO AREA 19 = 52 = 28 -7 0 NA 1
NON-EURO AREA 12 -7 51 -3 35 43 1 NA 1
BE Il = 55  +2 33 -7 0 NA 0
BG == 15 -7 61 -7 21 +7 0 NA 3
cz b= 15 -2 58 -7 26 +2 0 NA 1
DK amm 23 +1 52 -4 24 +3 0 NA 1
DE 3 = 56 -2 15 +1 1 NA 0
EE = 6 -2 58 -3 25 +5 0 NA 1
IE [ | 16 -3 49 -4 34 +7 0 NA 1
EL = 2% -2 58  +4 16 -2 0 NA 0
ES == 16 +1 47 +5 36 -7 0 NA 1
FR Il -7 44 -7 44 42 0 NA 0
HR —_— 17 = 53 -8 30 48 0 NA 0
T IR 7 -7 54  +7 28 = 0 NA 1
cY © 20 -9 52 47 27 41 0 NA 1
LV == 19 +7 59 +1 22 -7 0 NA 0
LT = 16 = 60 = 24 = 0 NA 0
LU 15 2 45 42 40 41 0 NA 0
HU _— 11 -3 66 -7 23 +5 0 NA 0
MT ‘B s -4 4  -10 50 +14 0 NA 0
NL — 23 -4 51 +2 26 42 0 NA 0
AT - 23  +1 56 -4 19  +2 1 NA 1
PL mm 11 47 54 -7 32 45 1 NA 2
PT EB o0 2 46 2 44 +4 0 NA 0
RO iR o 2 44 -1 42 +8 3 NA 2
S Bm 12 -2 59 -7 29 +3 0 NA 0
SK 1M +7 60 -5 28  +3 1 NA 0
FI = 13 -6 59 +3 27 +3 0 NA 1
SE =m 28 +6 57 -2 15 -4 0 NA 0
UK == 10 -3 45  +2 45 4] 0 NA 0

*Evolution Apr. 2018 - Sept. 2018



D72.1

Please tell me to what extent you agree or disagree with each of the following statements.
My voice counts in the EU (%)
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39
15
30
39
38
20
26
24
24
40
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21

12
23
30
6
8
38
13
44
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19
22
19
7
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3
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Totally disagree

A*

*Evolution Apr. 2018 - Sept. 2018

Refusal
(SPONTANEOUS)
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Total 'Agree’
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14
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76
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34
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35
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40
20
40
36
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49
33
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Total 'Disagree’
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D72.2

Please tell me to what extent you agree or disagree with each of the following statements.
My voice counts in (OUR COUNTRY) (%)
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35
43
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36
46
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27
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45
35
41
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45
31
38
46
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14
41

Tend to agree

A*

EB90.1

19

18
21

26
20
22
2
8
29
19
38
30
12
12
24
21
27
36
12
24
18
6
13
17
32
26
20
19
7
2
27

Tend to disagree

A*

EB90.1

Totally disagree

A*

+12

*Evolution Apr. 2018 - Sept. 2018

Refusal
(SPONTANEOUS)
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84
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37
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Total 'Agree’

A*
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w
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35
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36

13
48
28
77
50
26
21
58
60
52
64
28
45
32

18
25
44
57
35
28
12

42

Total 'Disagree’

A*
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D723

Please tell me to what extent you agree or disagree with each of the following statements.

(OUR COUNTRY)'s voice counts in the EU (%)

EU28

EURO AREA
NON-EURO AREA
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15

Totally agree

-

[aa]

[NN]
= 38
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= 36
= 53
+1 37
+1 29
+7 32
-7 37
= 51
= 48
-7 18
+3 47
-4 49
+5 41
-7 25
-2 38
+2 44
+2 51
+3 47
-1 46
+5 55
= 43
+5 36
-4 47
+2 56
-5 27
= 32
= 38
-4 49
+8 29
+3 32

Tend to agree

A*
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N
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6
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17
6
27

Tend to disagree

A*

EB90.1

20

Totally disagree

A*
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+2
+4

+12
+7
+4

+10

*Evolution Apr. 2018 - Sept. 2018

Refusal
(SPONTANEOUS)

EB90.1
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NA
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NA
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EB90.1 Don't know
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69
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89
89
57
68
20
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75
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42
51
57
79
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82
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57
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49
52
73
91
47

Total 'Agree’

A*
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46
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Total 'Disagree’
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D73.1 At the present time, would you say that, in general, things are going in the right direction or in the wrong
direction, in...?
(OUR COUNTRY) (%)

a
<
c -
c s o
o - — —_ —_
23 2% £5 3
o ¢ o = e o 2
c < c < c < e < -
52 5 2 S 5 &= S
[@) Bt ()] ; ) o
£ o = o < 8 8 (=)
£ S F s ) %)
£ c 2
:'5
=2
S A* S A* S A* S A* S
o o o o o
[NN] [NN] [NN] [NN] (NN}
EU28 B 33 - 52 +4 7 -3 1 NA 7
EURO AREA 32 -3 53 +5 8 2 1 NA 6
NON-EURO AREA 34 2 50 +3 7 -3 2 NA 7
BE 1l 3 -7 57 +7 5 -6 0 NA 1
BG E= 30 -3 50 +6 5 -7 3 NA 12
cz e 49 +7 36 -5 10 2 0 NA 5
DK H—t:! +1 37 +4 10 -7 1 NA 4
DE - 3y -13 53 +16 7 -3 1 NA 5
EE = 43 +9 22 -5 27 4 0 NA 8
IE [ | 68 -6 18 +5 6 -7 1 NA 7
EL = 9 = 82 +3 6 -3 0 NA 3
ES = 2 +2 67 2 7 -7 1 NA 3
FR Il 23 -8 61 +17 6 2 1 NA 9
HR =20 +1 74 +1 2 -3 0 NA 4
IT Il 3 +9 53 -5 8 -7 1 NA 7
cY < 33 -7 49 +5 13 -4 0 NA 5
LV 1 +8 42 -3 13 -6 1 NA 9
LT mm 35 +3 43 = 14 -6 1 NA 7
LU — 60 4 13 +2 15 -7 2 NA 10
HU — a9 +2 38 2 6 -3 1 NA 6
MT ‘B 57 -7 23 +3 11 4 0 NA 9
NL - 55 4 31 +5 8 4 1 NA 5
AT — 51 -7 33 +3 11 -3 2 NA 3
PL mm 45 +2 39 +2 6 -5 3 NA 7
PT Bl 4« -8 22 +7 15 = 2 NA 12
RO Bl -5 70 +7 5 = 1 NA 5
Sl Em 23 -7 53 +14 13 -13 1 NA 10
SK 24 +2 57 -7 9 +3 2 NA 8
FI o= 49 4 32 +1 13 +3 0 NA 6
SE mm 39 -3 40 2 13 +1 1 NA 7
UK == 26 -5 56 +6 7 4 1 NA 10
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D73.2 At the present time, would you say that, in general, things are going in the right direction or in the wrong
direction, in...?
The European Union (%)
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EU28 B s 4 50 +8 9 5 2 NA 11
EURO AREA 26 -5 53 +9 9 -3 2 NA 10
NON-EURO AREA 32 -3 45 +8 8 -5 3 NA 12
BE 1l = 61 +9 4 -9 1 NA 2
BG Em 44 -3 27 +2 6 -7 3 NA 20
cz ha 28 = 52 +1 10 -3 1 NA 9
DK H—IEE = 43 +8 14 -10 1 NA 9
DE E -9 52 +13 9 4 2 NA 8
EE = 33 +2 27 +7 25 4 1 NA 14
IE [ | 56 -6 22 +4 9 = 1 NA 12
EL = 16 +1 69 +1 8 4 1 NA 6
ES == 2 -7 59 +3 7 2 2 NA 7
FR Bl 8 -5 59 +13 7 -3 1 NA 15
HR a4 +7 42 4 6 2 1 NA 7
IT Il -3 58 +9 10 -7 2 NA 9
cY =31 +6 47 +2 15 -5 0 NA 7
LV Y +4 28 +1 13 -6 1 NA 17
LT mm 43 -10 22 +7 15 -4 1 NA 19
LU —37 +5 35 +3 15 -8 2 NA 11
HU —_— +2 42 = 7 -5 2 NA 8
MT ‘B 39 -3 18 +3 22 -8 2 NA 19
NL - 38 -3 44 +10 8 -9 1 NA 9
AT — 32 2 45 +4 14 4 2 NA 7
PL - 44 +2 33 +7 8 -7 5 NA 10
PT Bl -5 20 +5 18 = 3 NA 18
RO Bl 38 -14 41 +15 8 +1 3 NA 10
S e 27 -9 42 +13 16 -10 2 NA 13
SK 24 -7 53 +5 10 +7 3 NA 10
FI = 31 -3 43 +8 14 2 0 NA 12
SE am 29 -7 48 +3 12 -7 1 NA 10
UK == 20 4 54 +9 9 4 3 NA 14
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D77 When you hold a strong opinion, do you ever find yourself persuading your friends, relatives or fellow workers
to share your views? Does this happen...?
(%)
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DE m -7 41 +2 31 4 22  +4 1
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IE | 6 = 39 4 31 = 24 45 0
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FR Bl o = 34 +3 26 = 29 -3 1
HR _— 11 +2 46 -4 29 41 14 +] 0
T Il n -7 39 4 26 -2 24 47 0
cY 19 -3 39 47 22 +4 20 -2 0
LV = 13 -2 38  +3 29  +7 20 -1 0
LT B 5 -7 44 +3 24 4+ 16 4 1
LU _— 14 -7 46 = 23 +7 15 -7 2
HU _— 2 -2 33 -2 37  +3 28 42 0
MT ‘B o -3 40 -6 25 42 26 47 0
NL - 16 = 61 -2 17 +2 4 -7 2
AT _— 9 +1 47 = 34 42 9 -3 1
PL mm 6 +2 33 -2 27 -1 33 47 1
PT Bl - -7 43 -3 27 -7 25 45 0
RO il s 3029 -7 38 45 27 -7 1
Sl Em 4 2 24 2 31 +5 39 -7 2
SK 3 = 27 +4 33 6 36 +3 1
FI g= 5 = 29 -3 38 +2 26 +] 1
SE == 15 +7 40 -2 30 = 15 +7 0
UK SE s -7 33 44 24 -] 34 -7 1
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D78 In general, does the EU conjure up for you a very positive, fairly positive, neutral, fairly negative or very negative

image?
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BG B 19 +7 37 -7 26 = 11 +1 4 = 1 41 2 5 = 15 +]
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DE B ;7 - 44 +7 36 = 9 = 3 = 0 = 1 51 41 12 =
EE == > - 4 -7 48 +2 7 = 1 2 0 = 2 42 -1 8 -2
IE Bl 17 +4 43 5 33 +71 4 -7 2 = 0 = 1 60 -1 6 -I
EL = 3 7 28 +4 42 = 16 -3 10 -1 0 = 1 31 +3 26 -4
ES =~ 2 = 30 -2 54 +4 10 -3 3 +7 0 = 1 32 -2 13 -2
FR Bl 4 +2 33 = 43 = 14 2 5 = 0 = 1 37 +2 19 =2
HR = 6 +1 36 +1 41 -4 10 +1 6 +1 0 = 1 42 +2 16 +2
T Bl 3 +7 27 6 39 = 22 +5 6 = 0 = 3 30 -5 28 +5
cY o 7 42 37 +2 4 +3 8 6 7 -1 0 = 0 44 +4 15 -7
LV == 3 = 36 +3 5 = 6 -2 2 = 0 = 1 39 +3 8 -2
LT mm 5 +/ 4 -8 49 +8 4 = 1 = 0 = 0 4 -7 5 =
LU = 7 +2 51 471 33 +1 7 -1 2 -2 0 = 0 58 +3 9 -3
HU 2 -3 37 -3 44 +3 13 +2 4 +1 0 = 0 39 -6 17 +3
MT *B 10 +5 31 -77 50 +71 5 +1 2 41 0 = 2 41 -12 7 42
NL — 4 = 44 +2 34 -5 15 43 3 = 0 = 0 48 +2 18 +3
AT _— 7 -2 27 -3 39 +2 19 +2 6 = 1 +1 1 34 -5 25 42
PL mm 9 +3 48 +7 34 -5 6 = 2 +1 0 = 1 57 +4 8 +]
PT E® 1 = 52 2 37 = 8 41 1 + 0 = 1 53 -2 9 42
RO BB 6 -7 40 4 39 +3 9 +71 3 +1 0 = 3 46 -5 12 +2
S| EBmm 3 -7 31 6 51 +4 10 +1 4 +2 0 = 1 34 -7 14 +3
SK 2 -7 31 -2 48 +2 12 = 5 +1 1 41 1 33 -3 17 +1
FI = 2 -7 31 -7 50 = 12 +2 3 = 0 = 2 33 -2 15 +2
SE mmm 8 +4 47 +72 32 -77 10 -5 3 = 0 = 0 55 +76 13 -5
UK == 9 +2 24 2 37 +3 18 2 10 +2 0 = 2 33 = 28 =
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D80a On the whole, are you very satisfied, fairly satisfied, not very satisfied or not at all satisfied with the way
democracy works in (OUR COUNTRY)?
(%)
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SE mmm 32 +12 55 -5 10 -4 2 -3 1 87 +7 12 -7
UK == 11 +7 60 +717 21 4 4 -3 4 71 412 25 -7
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D80b And how about the way democracy works in the EU?

(%)
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D81

Please tell me if you tend to trust it or tend not to trust political parties.
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D82 In your opinion, are the inequalities between the different social classes in (OUR COUNTRY) currently very
important, fairly important, not very important or not at all important?
(%)
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EU28 B 34 6 47 +3 12 +1 2 = 5 81 -3 14 +7]
EURO AREA 38. 5 48 +5 9 -7 2 = 3 8 = 11 -]
NON-EURO AREA 27 6 45 +1 16 +3 4 = 8 72 -5 20 +3
BE BR 2 8 61 +17 12 4 2 = 1 8 +3 14 -4
BG Bmm 56 6 33 +6 6 +1 1 = 4 8 = 7 4]
cz Bm 15 <4 41 -6 28 +4 7 41 9 56 -10 35 45
DK e 31 5 37 2 21 +4 5 +2 6 68 -7 26 +6
DE B 50 > 39 2 7 -7 1 = 3 8 = 8 -]
EE B )5 7 53 45 15 47 1 = 6 78 -2 16 41
IE Bl 29 -72 53 +72 10 -7 2 = 6 8 = 12 -1
EL 2= 33 .75 52 470 12 +4 1 -1 2 8 -5 13 +3
ES -39 8 52 +10 6 -2 1 = 2 91 +2 7 2
FR Bl 47 8 4 +5 7 +3 1 = 1 91 -3 8 +3
HR o= 30 6 41 -3 19 +7 8 44 2 71 -9 27 +11
T Bl 3 5 52 + 11 -3 5 +1 9 75 -2 16 -2
cY © 36 -13 50 +14 10 -7 1 -1 3 8 +1 11 -2
LV = 34 -9 43 +8 14 = 4 -1 5 77 -1 18 -1
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LU ——25 5 57 47 12 -4 1 -1 5 8 +2 13 -5
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D83 And do you think that in five years' time, the inequalities between the different social classes in (OUR COUNTRY)

will be...:
(%)
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